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BE ox e HIFE R (ko) 1% #Y3E RS E]
A—k AH HY5E | HEREE] | Hfike) | BEF) | HEME) | REFE) | SEE | HEE) | RiEE)
130100|72 W2 A et 12,410
1301002V A s 75 70 10 2,592
130100|72 W2 A ES 11,000 11,000 10 864 324
1301002V A % 1,335 1,335| 15 1,080 864
130340[#IcA LA et 8,200
130340[#ICA LA R 5,600 5,600[ 10 1,404 648
130340[#IcA LA RER 1,400 1,400 10 1,156 832
130340[#ICA LA ) 700 700[ 10 1,274
130400(Z1F 5 et 3,044
130400| 1% 5 7% 2,040 1,940 10 2,484 1,220
130400| 1% 5 =l 40 40 2 1,674
130600|1LA Z A B 1,410
130600 A Z A s 1,260 0 1,260 5 4,536 648
131100({H 3 v 6,058
1311008 % Ik 480 480 15 1,404
131100| (B3 FE 4,378 4,337 15 1,021 540
131700(%F v~ et 41,720
131700|F v+~ A 23,910 17,900{ 10 1,080 583
131700|F v R FE 15,810 10,510 10 864 680
131800(1F 5 N A E e 1,824
131800(1F 3 WA E FE 345 191 130 0.2 200 76 173
131800(1F 5 N A E = 440 0 440 4 1,728 1,080
131800(I1F 3 WA E 12 405 0 405| 0.18 92 81
131910(Fh & e 2,186




131910(Fh & KB 15 14| 0.045 63 62
131910|F R & 5B 84 82 0.5 502 302
131910(Fh & R 1L 360 360 1 648 432
131910|F R & FN 1,063 100 963 10 2,484 3,780 1,620
131910(Fh & EiE 365 0 350 5 3,780 1,296
131950|H A& ¥ 3,368

131950(BAh & BER 2,080 0 1,725 3 1,404 540
133400 L % X ¥ 13,394

133400|L % & BE 5,630 0 3,200 10 2,916 2,160
133400 L % X BE 2,000 0 2,000 10 2,916 1,944
133400|L % & & 400 0 352 4 1,566 1,080
133400 L % X Rl 3,810 0 2,770 10 1,620 1,004
134100|8A/X ¥ 11,940

134100|8AM h¥= 2,185 0 1,930 5 2,376 1,566
134100|8A/X =N 1,655 0 865 5 2,592 1,944
134100 (#A K = IR 6,640 0 5,820 5 2,646 1,836
134100|8A/X BRS 1,460 0 1,460 5 2,484 1,728
134200|m /X TeE 1,500

134200|F /M XF 3 1,500 0 1,200 10 1,728 1,404
134300(71F ToE 3,757

134300|50F wE 330 330 2 1,188 918
134300|30F = A 2,582 2,408 0.3 146 119
134400 b~ b ¥ 4,391

134400| k< b 5B 802 802 1,620 648
134400 b~ b REA 2,767 2,767 1,620 864
134500 &' —~ >~ ¥ 5,014

134500 "=~ ~ = Al 684 684 0.15 86 76
134500 &' —~ > = IR 3,424 3,385 0.13 105 65
135100V AT A ¥ 220

135100| W A I A = A 40 0 36 2 3,780 2,808




136100|HA L & ¥ 23,805

136100(AA L & I 16,165 16,165 5 1,966 540
136100|HA L & & 3,390 3,115 5 1,944 432
136100(AA L & PN 4,250 4,175 5 1,836 972
136200|%inE ¥ 8,000

136200(F % B IR 6,000 6,000 10 1,912 1,480
136210| X —27 4 >~ T3 12,700

136210( X —7 1 ~ time 12,700 12,700 10 2,052 569
136300| 2% T3 2,430

136300(E3 i 2,430 2,380 10 4,104 1,620
136600|7- & ¥ 40,480

136600|7z & time 26,490 26,490 20 4,644 3,340
136600|7- & BE 7,430 7,420 10 3,240 1,296
138100({& L W /o lF ¥ 1,519

138100 L Wizl fig Ly 161 161 0.1 117
138100({& L W /o lF BE 1,214 1,202 0.2 216 97
138500| L& LE ¥ 1,108

138500(L® LE g 1,037 812 0.2 92 83
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28 os e MR (k) % gy fEERE
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240700 | & @ RINAD A [HoER 17,588
240700|Z@EIMNA N A | FFRWL 12,723 0| 12,723 10 4,320 756
240700 E@EMAN A | &I 4,865 0 4,325 10 3,564 1,944
241300\ F 1 HE 4,512
241300|FF#H FiE 4,512 0 450 10 2,700 1,620
241390[IFA DA boese 6,070
241390|IFA DA FiE 6,070 0 1,260 10 2,700 1,620
2414701 Z A DA boese 156
2414701 Z A DA =y 156 0 156 3 3,564 2,916
241481|F Ry A h A | 1,395
2414817 aR > AhA | MFRL 1,395 0 1,395 5 3,564 2,700
246000|L B & T 3,607
246000(\ 5B & EE 272 164 108| 0.25 454 194 486 270
246000|L B & I 206 0 170 0.3 594 432
246000({\ 5B & & 786 0 725| 0.27 756 324
246000|L B & K& 680 0 621 0.25 486 270
246000({\ 5B & REAS 1,473 0 1,163 0.25 454 270
24600016 & =y 191 0 123| 0.25 410 324
247100| 7 — 2 XAy ¥ 187
247100| 7 — LR A AV B4 187 0 187 9 18,360 8,640
257100((x L #h Eoe= 1,613
257100[1F L 1 RE 1,613 0 221| 0.15




